Directions—(Q. 1-25) What will
come in place of the question mark
(?7) in the following questions ?

1. V342 +463+420="
(A) 43 (B) 45
(C) 33 (D) 35
(E) None of these

2. 56133 +455:71 +672:13="7
(A) 1686-45 (B) 1683-29
(C) 1688-34 (D) 1689-17
(E) None of these

3. (48+97)x (132 +1-:08) = ?
(A) 345 (B) 348
(C) 342 (D) 346
(E) None of these
4, 32341 + 52187 + 12234 — 72438
=7
(A) 24324  (B) 24326
(C) 24322 (D) 24325
(E) None of these

5. V324 +/3136 = 7 - (7)2
(A) 127 (B) 125
(C) 122 (D) 123
(E) None of these

6. 28 x447-942="
(A) 11573 (B) 11577
(C) 11574 (D) 11575
(E) None of these

7. 08x888+80x18="2
(A) 15833  (B) 159-84
(C) 156-87 (D) 15478
(E) None of these

1 3 2
1 4 = )
8. 5thof4thof5thof2550-.

(A} 153 (B) 156
(C) 158 (D) 155
(E) None of these

9. 6790 +2155+4521 =7
(A) 154-69 (B) 155-87
(C) 15364 (D) 152:73
(E) None of these

10, 7776 x (216)3 = (36)2 = (6)7 x 36
(A) 6 (B) 8
(C) 10 (D) 9
(E) None of these

1.

12.

13.

14,

15.

16.

17.

18.

19.

20.
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5544 + 6767 ~ 3443 =7 5q
(A) 8860 (B) 8888
(C) 8866 (D) 8868
(E) None of these
21 75 32
25 %56 %33> " 22,
1 3
(A 333 (B) 137
1 1
(©) 135 (D) 25
(E) None of these 23,
52 2
73777
1 2
(A) 157 (B) 1y
1 2 24,
(©) 253 (D) 25
(E) None of these
N728=2-7
(A) 17 (B) 18 25.
(C) 21 (D) 22

(E) None of these

42% of 12% of 1 th of 15000 = ?

4 26
(A) 188 (B) 182
(C) 185 (D) 18/

(E) None of these
12% of 150 + 62% of 800 = ?

(A) 516 (B) 518

(C) 515 (D) 514 27,
(E) None of these

gth of 38% of 600 - 154 =7

(A) 169 (B) 163

(C) 165 (D) 168 08
(E) None of these

60 x 18—5 =7?

(A) 34 (B) 36

(C) 38 (D) 33

(E) None of these

72 v 43x0-8="7

(A) 24534 (B) 24768
(C) 24924 (D) 243-56
(E) None of these

714+ 329+ 943+819="7
(A) 27-03 (B) 28-05
(C) 2505 (D) 29:03
(E) None of these

29.

56835 - 12683 + 38934 = ?
(A) 83085  (B) 83083
(C) 83088 (D) 83086
(E) None of these

4244 + 4 + 4554 +9="

(A) 1567 (B) 1569
(C) 1563 (D) 1568
(E) None of these
V20164 = ?

(A) 143 (B) 145
(C) 142 (D) 144

(E) None of these

15 x 28 x ? = 5040
(A) 12 (B) 18
() 14 (D) 16
(E) None of these

(18)2 + (14)2 - (21)2=?
(A) 78 (By 75
(C) 77 (D) 73
(E) None of these

. What is the least number that

can be added to 5300 to make it
a pertect square 7

(A) 25 (B) 33
(C) 29 (D) 36
(E) None of these

46% of number is 115. What is

150% of that number ?
(A) 370 (B) 385
(C) 365 (D) 360

(E) None of these

. Meera had a certain amount, she

gave 15% of that amount to
Anish, 32% to Rubina and 25%

to Sana. % th the remaining amo-
unt is ¥ 8,400. How much did she

give Anish ?
(A) T6,000 (B) 6,200
(C} T6,400 (D) T7,000

(E) None of these

in how many different ways can
the letters of the word ‘TRENDS’
be arranged ?

(A) 720 (B) 120

(C) 740 (D) 5040

(E) None of these
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30.

31

35

If the following fractlons are
arranged in an ascending order
(fram left to right), which of them
will be secand from the laft end ¥

K]
(A 33
5
11
A
15
Four years ago the ratio betwean
the ages of Taani and Ananya
was 4 : 5 respectively. The ratio
betwean their present ages s
14 ; 17 respectively. What will ba
Ananya's age 5 years hance ?

®) 2
) 0

(E)

(A) 34 years (B) 33 years
{C) 38 years (D) 2B vears
(E} None of these

. Find the average of the fallowing
set of geores—
495, 321, 673, 553, 235, 723
(A) 530 (B) 550
(C) 500 (D) 520
(E} None of thesa

. The average of five numbers is

56-4. The average of the first and
the second number Is 53. The
average of the fourth and the fiith
number is 56. What is the third
nurnber ¥

(A) &3 {B) 62

C) &7 (D) 68

{E}] MNone of these

What will be the compound
intarest accrued on a principle
amount of ¥ 32,000 at the rate of
11 p.c.p.a. after a pericd of 2
years 7

(A) T74205 [B) T 74238
(C) T 74267 (D) T 74272
[E) Moneof these

The side of a square is 2 cm less
than the langth of a rectangle and
the breadth of the ractangle is 5
cm less than the side of the
square. The area of the square is
324 205, om. What is the area of
the reclangle 7

(A) 250 sq. cm

(B) 280 sq. cm

(C) 254 5g. cm

(D) 258 2. cm

(E} Monea of these

38.

& car covers 232 km in 4 hours,
The average speed of a bike is
50% more than the average
speed of the car. How much
distancea will the bike cover in &
hours 7

(A) 524km (B} 5328km

(C)] 222km (D) 526 km

{E} Maone of thase
Directions—((Cl.

37-39) The

following questions are baged on the
given infermation—

A man sold 8500 articles in a

span of four days. He sold 26%
articles on day one. 25% articles on
day 2 and 32% articles on day 3. The
remaining arlicles wers sold on day 4.

ar.

40.

How many articles werg sold on
day 2 and day 3 together ?

(A) 4845 (B) 4844

(C) 4843 (D) 4848

(E) MNone of these

How many articles were sold on
day 4 ?

(A) 1448 (B] 1454
{C) 1452 (D) 1444
(E) None of thase

. What iz the difference betwaan

the numbear of aficles sold on
day 1 and day 3 7

{A) 512 {B) 515

{C) 520 (D) 5@

(E) MNaone of these

Koel scored 49 marks in English,
37 marks in Science, 45 marks in
Mathematics, 53 marks in Hindi
and 35 marks in Sacial studies,
The maximum marks a student
can score In each subject is 70
How much approximate per
centage did Koel get in this
exam ?

(A) 53 (B) 78
{C) sa (D) 73
(E) 8B

Directions—(Q2. 41-45) What

approximate value should come in
place of the question mark {7} in the
fallowing questions ?

41.

(Mote : You are not expected to
calculate the exact value.)

1982 « 24-998 x 49-87 = 7

(A) 2000 {B) 1500
(Cy 1000 {0) 2500
(E) 3000

45,

20002 « 32096 « (400 =7

(A) 300 (B) 450
{C} 550 (D} 400
{E) 500

. V5623 =1
{A) 95 (B] 75
(C) 58 (D} 35
(E} 115
2001-14 + 5480 x 9800 = 7
{A) 420 (B) 300
{C} 330 {D} 390
(E) 380
3569 +19=7
{A}) 185 {B) 155
{C) 205 (D) 235
(E} 115

Directions—(Q. 46-30) What

should come in place of the question
mark (%) in the foliowing number

Saries 7

46, 17, 19, 23, 29, 37, 7
(A) 46 (B) 49
(C) 47 (D) 48
(E) 45

47, 900, 899, 891, B64, AOO, 7
(A) B35 (B) 685
(C) B85 (D) 675
(E) 655

48. 4, 32, 224, 1344, 6720, 7
(A) 26885  (B) 26880
{C} 26882 (D) 26288
(E) 28883

49. 5B, 54, 58, 50, 66, 7
A) 34 (B) 98
{C) 38 (D} o4
{(E) 44

50. 655, 637, 622, 610, 601, 7
{A) 598 {B) 593
{C) 595 (D) 547
:_E} a4
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1 (D)

2 (D)

3 (B)

4 (A)

5 (D)

6 (C)

7 (B)

8 (A)

9 (A)

10 (B)
11 (D)
12 (C)
13 (B)
14 (E)
15 (E)
16 (D)
17 (E)
18 (E)
19 (B)
20 (B)
21 (D)
22 (A)
23 (C)
24 (A)
25 (E)
26 (C)
27 (E)
28 (A)
29 (A)
30 (B)
31 (E)
32 (C)
33 (B)
34 (D)
35 (B)
36 (C)
37 (A)
38 (E)
39 (E)
40 (C)
41 (D)
42 (D)
43 (B)
44 (E)
45 (A)
46 (C)
47 (D)
48 (B)
49 (A)
50 (C)

Answers: Numerical Ability
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Allahabad Bank Clerk Exam 2011 Reasoning Paper

7. Pointing to a man’s photograph

1. ‘Temporary' is related to ‘Perma- Code :
nent’ inthe same way as ‘Natural’ Ajay said “my mother is the only SAPWLDKUEZQTNO
isrelatedto”......... " daughter of his father.” How is the Numbers/Symbols Codes :

(A) Nature (B) Artificial
(C) Imaginary (D) Fraud
(E) Genuine

. Inaclass of 25 students, Sneha’s
rank is 18th from the bottom and
Meena’s rank is 23rd from the
top. If Chhaya’s rank is exactly
between Sneha and Meena's
rank, what is Chhaya'’s rank from
the bottom ?

man in the photograph related to
Ajay ?

(A) Uncle (B) Brother

(C) Son (D) Grandfather
(E) Cannot be determined

In a certain code language,
‘NICE’ is coded as ‘OIDE’, simi-
larly ‘WORK' is coded as ‘XOSK'.
How will ‘SAID’ be coded in the
same code language ?

73 86%2#84@1+58%

Conditions :

)

(I

If the first element is a vowel and
the last element is a consonant,
then the consonantis to be coded
as *.

If both the first and last elements
are vowels, then the last vowel is
to be coded as the code for the
fifth element.

Eé)) :i:: fg; :ﬁﬂ (A) TIUD (B) TBJD () If the group of elements does not
(E) Cannot be determined (C) SBIE (D) TAJD contain any vowel, second ele-
(E) TBID ments is to be coded as the code

. Fourof the following five are alike
in a certain way and hence form a

alphabet according to the English

9.

Which of the following groups of

Directions—(Q. 11-15) Ineach

for the last element.

group. Which of the following letters should replace the blank 1. AEZPTO
does not belong to that group ? spaces (in the same order from (A) 34@&++ (B) 3@48++
(A) 9 (B) 216 left to right) so that the group of (C) 34@&$$ (D) +4@8+3
(C) 8 (D) 64 letters, given in bold, follow a (E) 343@++
(E) 512 !ogical pattern frorr! the preced- 12 kELWDQ
. How many meaningful English "9 a“g the following group of s\ 440081 (B) #a%621
words can be formed with the letters ? (C) 14%62# (D) #4%62%
letiers ‘EPA’ using all the letters ?A; zz cdx— (B')'h’" ghts (E) #4621
but each letter only once in each Y, € XY, 9
word ? ' € byg @ xye 1. UNTOLK |
(A) None (B) One (E) byw,e (A) 85+3%# (B) 855+%x
Y (C) *5+$%# (D) 85+%$%
zg)) I\T/I“c:Se than tg?c)a eThree 10. How many such pairs of letters (E) 85+$%%
are there in the word ‘LENGTH’,
. Fourof the following five are alike each of which has asmany letters 14 TDKPSN
In a certain way and hence form between them in the word (in both () +2#&72  (B) +5&#75
a group. Which of the following toryarq ang backward directions ~ (C) +5#875 (D) +547#5
does not belong to th.at group 7 as they have between them in (E) +54785
(A) Meter (B) Litre the English alphabetical series ?
(C) Yard (D) Feet A Nowo  (B) One 15, WPNSZD
(E) Mile ©) Two (D) Three (A) 6857@2 (B) 2$57@6
. If each vowel in the word (E) More than three (C) 6257@2 (D) 6&57@&
‘REMAINS’ is changed to next (E) 627@52

Directions—(Q. 16-20) Study

question below is given a group of
letters followed by five combinations
of numbers/symbols codes lettered
(A), (B), (C), (D) and (E). You have to
find out which of the combinations
correctly represents the group of
letters based on the following coding

alphabetical series and each con-
sonant changed to previous letter,
how many alphabets will be there
in the English alphabetical series
between the letters which are at
the extreme ends of the new word
thus formed ?

the following information to answer
the given questions—

Seven friends -P, Q, R, S, T, V
and W are sitting in a straight line
facing North, not necessarily in the
same order. T sits at one of the

(A) None (B) One system and the conditions and mark extreme ends of the line. Q sits third
(C) Two (D) Three the letter of that combination as your to left of T. Only one person sits bet-
(E) Faour answer— ween S and W. S is an immediate
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neighbour of Q. P is not an immediate
neighbour of T and S. P and R do not
sit at the extreme ends of the line.

16. What is R’s position with respect
toP?
(A) Second to the right
(B) Fourth to the right
(C) Second to the left
(D) Third to the left
(E) None of these

17. Four of the following five are alike
in a certain way based on their
seating positions in the above
arrangement and so form a group.
Which is the one that does not
belong to the group ?

(A) QS (B) VP
() TR (D) PW
(E) wQ

18. If all the seven friends are made
to sit in alphabetical order from
right to left, the positions of how
many will remain unchanged ?

(A) Four (B) Three
(C) One (D) Two
(E) None
19. Who sits exactly in the middle of
the line ?
(A) P B)Y W
€ S D) Q
(E) R

20. Who amongst the following sits
to the immediate ieft of W ?

(A) Q |) P
() R D) S
E) T

Directions—(Q. 21-25) in these
questions, relationships between diffe-

rent elements is shown in the state-

ments. These statements are followed
by two conclusions. Give answers—
(A) if only conclusion | follows.
(B) If only conclusion Il follows.
(C) Iif either conclusion | or con-
clusion Il follows.
(D) If neither conclusion | nor
conclusion |1 follows.
(E) If both conclusions | and H
follow.

21. Statement : A=2B=C<M
sD<E
Conclusions : |. A>D
. E>B

22 Statement : Z=Y>X>W
<V<T
Conclusions : 1. Z>W
. WeT
23. Statement : N<M=sO>P
=Q=R
Conclusions : |. O>R
. N<P
24 Statement : T>M=B=<Q
>F>R
Conclusions : |. M>R
N F<T
25 Statement : O=P<Q=<R
=S=sT
Conclusions : |. Tz=Q
II. O<S

Directions —(Q. 26-30) Study the
following information to answer the
given questiong—

Eight friends A, B,C, D, E, F, G
and H are sitting around a circle facing
the centre. Four out of the eight
friends drive a car while four drive a
bike. No two friends who drive a car
are immediate neighbours of each
other. A, who drives a car sits third to
left of H. G, who drives a bike sits
second to right of E. F and C are
immediate neighbours of each other.
F does not drive a car. B is an
immediate neighbour of F but not of H.

26. Four of the following five are alike
in a certain way based on the
above arrangement and so form
a group. Which is the one that
does not belong to the group ?

(A) B (B) E
©) A (D) C
(E) D '

27. If all the eight friends are made

to sit in alphabetical order in the
anti-clockwise direction starting
from A, positions of how many will
remain unchanged (excluding
A)?

(A) None (B) One
(C) Two (D) Three
(E) Four ‘

28. In which of the following pairs do
both the members drive a bike ?

(A) F,D ) B,D
(C) F,C O)HB
(E) E,H

29. Which of the following is true
about D ?

(A) D drives a bike

(B) H and E are immediate
neighbours of D

(C) Hsits third to leftof D
(D) D sits second to the left of C
(E) Noneis true
30. What is F’s position with respect
toE?
(A) Immediate right
(B) Third to the right
(C) Second to the left
(D) Fourth to the left
(E) Second to the right
Directions—(Q. 31-35) Study
the following arrangement carefully

and answer the questions given
below—

ASHx JRS2&!T6@QBKFG
UMIO#%E4NS59D3LW7Y

31. Which of the following is fifth to
the left of the sixteenth from the
left end of the above arrange-

ment ?
(A) 4 B\ !
(C) E (D) 2

(E) None of these

32. What should come in place of the
question mark (?) in the following
series based on the above
arrangement ?

Hx RS T BK ?
(A) ©# (B) MI
(C) #% D) 1©

(E) None of these

33. If all the letters are dropped from
the arrangement, which of the
following will be the ninth from
the rightend ?

(A) # B) @
€) @ (D) 6
(E) None of these

34. Four of the following five are alike
in a certain way based on their
positions in the above arrange-
ment and so form a group. Which
is the one that does not belong
to the group ?

(A) AJH (B) GOM
() TB@ (D) 5DL
(E) %54

35. How many such numbers are
there in the above arrangement,
each of which is immediately pre-
ceded by vowel and also imme-
diately followed by a consonant ?
(A) None (B) One
(C) Two (D) Three
(E) More than three
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Directions—(Q. 36-40) In each
of the guestions below, two state-
ments ara given followed by two con-
clusions numbered | and Il. You have
to lake the two statements to be true
aven If they seem to be at variance
from the commonly known facts and
then decide which of the given con-
clusions logically follows from the
given statements disregarding com-
monly known facts. Give answers—

(A) I only conclusion | follows.

(B) If only conclusion Il follows.

(C) W aither conclusion | or con-
clusion Il follows,

(D} H neither conclusion | nor
conclusion Il follows.

(E) If bath conclusions | and Il
follow.
36. Statements :
Some watches are clocks,
All crystals are watches.
Conclusions :
I Some clocks are crystals.
ll. Mo erystal being a clock Is a
possibility,
37. Statements :
All cats are dogs.
All rats are cats.
Conclusions :
I All cals being rats is a possi-
Il. Al rats being dogs is a possi-
bility.
38. Statemants :
All rocks are mountains,
Mo mountain is a fountain,
Concluslons :
. Some fountains are rocks.
IIl. Mo fountain is a rock.

38. Statements :
No energy is force.
Somea forca is powar.
Concluslons :
I Noenergy is power.
Il. All forces being energy is a
possibility.
40. Statements :
All pages are trees.
All trees are precious.
Conclusions :
I.  All pages are precious.
. All precious can never be
pages.

Directions— (0. 41-50) In each of the questions given below which one of
the five answer figures on the right should come after the problem figures on
the left, if the sequence were continued ?

Problem Figures Answer Figuras

"“‘ﬂnf:=.n-:=T5|{r.'5ti'l Cusiusl=uldlduvolius
DasalfTolopcls=+plouwd| [cogilcoolconlc wale on
(Ay (B (C) (D) (E)

¢ ofja <|p ofjc plo o] [0 &ale =[p olc =lp o
42,12 ble plc wela olp alle #=loe ©le ole Ble o
L] * | & L& | W {=1 [+ el D £la Cl* Al Afx &
(A} (B) (€ (D) (E)

43. [cooanjecooalapnoc|oancoloncoal |cbonalcoobalconanlacoonlcopna

(A) (B} (€} (D) ()

w . r * I I I

44 Y Iiw % L alo % f ajs | &[0
y CAE] aly oie alw Elw Al alo alw alp of#
- [T L] [E L L]

(A (B (© O (8

3] $Tolaws]| [=ac]=0alo axzo ala » 5

45 T T & e T #|C &= 5 ®lo T
o0 T 5|5 & & (=] O T SI0T S O TS T 58|= ]

(A B (€ (@O (B

A @& (© o B

(A) (B (€ (D) (B

S0=oc VS 0C0Zv|S  Z| [*EC|o vk w0 *|em Y

¥Tal=4 Sjvmold oSiveo| [zos|c zslzos|zvslzas

(A ® (1€ (@ (€

e | 2% | o | Sle | efr #|7 | ®jo | wir Tle | #]lo
49, ﬁh ﬂ_ E T
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1 (B)
2 (D)

3(A)

4(C)

5 (B)

6 (A)

7(A)

8 (D)

9 (E)

10 (C)
11 (A)
12 (B)
13 (B)
14 (C)
15 (C)
16 (B)
17 (C)
18 (E)
19 (D)
20 (B)
21 (B)
22 (E)
23 (A)
24 (D)
25 (E)
26 (B)
27 (B)
28 (E)
29 (D)
30 (C)
31 (E)
32 (D)
33 (B)
34 (D)
35 (B)
36 (C)
37 (B)
38 (B)
39 (D)
40 (E)
41 (B)
42 (E)
43 (C)
44 (D)
45 (D)
46 (C)
47 (A)
48 (E)
49 (B)
50 (B)

Answers: Reasoning
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Directions—(Q. 1-25) In each question below a combination of Na
the left followed by four such combinations one eachu
combination which is exactly the same as the combinat

Allahabad Bank Clerk Exam Aptitude Paper 2011

nder the columns (

that combination is the answer. If all the combinations are different, the answer is (E)".

10.

1.

12.

13.

14,

. Limaye & Sons

Shop No. 63
Fax — 3511310
Naresh Jain
Phool Galli, 27
Ujjain 489650
D. S. Patra

16/309, M. |. Road
Sihora - 369705

Faria Pereira
Mogra Pada
Raurkela — 27
Ketki Doshi

H.No. 133, IV Lane

Rajkot — 36531
R. K. Kukreja
Sr. Stores Offi
Chamba—26
Kotian P. H.
498/116 lind
Chikmaglur

Dr. Gandhi H. V.

Pavagarh - (N)
Pin — 321963
T. Bhavsar

R. No. 1741 'C’
Hassan—-44
593044

Sohail Hassan
Firdosi Baug
Fatehpur — 588

Lynette Montiero

D’'mello Road
Goa — 11
Komal Shirali

Venkatesh Chowk

Nampalli — 74
N. M. Panda
Belgaum (S)
Pin—-569008

Hussain Ekbaan

Jama Sweets
Tel-3578626

(A)
Limbaye & Sons
Shop No. 63
Fax - 3511310
Naresh Jaini
Phool Galli, 27
Ujjain 489650
D. S. Patra

16/309, N. L. Road

Sihora — 369705
Faria Pereira
Mogra Pada
Raurkela — 17
Ketki Doshi

H.No. 133, V Lane

Rajkot — 36531
R. K. Kukreja
Sr. Stores Offi
Chhamba-26
Kotian P. H.
498/116 lind
Chikmaglur

Dr. Gandhi H. V.
Pavagarh — (N)
Tel — 321963
T. Bhavsar

R. No. 1741 ‘G’
Hassan—44
593044

Sohail Hasan
Firdosi Baug
Fatehpur — 588
Lynette Montiro
D’'mello Road
Goa - 11
Komal Shirali

Venkatesh Chowk

Nampalli — 74
N. M. Panda
Belgaum (S)
Fax—569008
Hussain Ekbaal
Jama Sweets
Tel-3578626

(B)
Limaye & Sons
Gate No. 63
Fax - 3511310
Naresh Jain
Phool Galli, 27
Ujjain 849650
D.S. Patra

16/309, M. |. Road

Sihora — 369705
Faria Fereira
Mogra Pada
Raurkela - 27
Ketki Doshi

H.No. 133, IV Lane

Rajkot — 36531
K. R. Kukreja
Sr. Stores Offi
Chamba-26
Kotian P. H.
498/216 lind
Chikmaglur

Dr. Gandhi H. V.
Pavagarh — (N)
Pin — 322963
T. Bhavsar

R. No. 1741 'C’
Hassan—46
593044

Sohail Hassan
Firdosi Baug
Fatehpur — 588

Lynette Montiero

Demello Road
Goa - 11
Komal Shirali

Venkatesh Chowk

Nampali — 74

N. M. Panda
Bolgaum (S)
Pin-569008
Hussain Ekbaan
Jama Sweets
Tel-3578626

(€)
Limaye & Sons
Shop No. 63
Fax - 3511310
Naresh Jain
Phoot Galli, 27
Ujjain 489650
D. S. Pitra

16/309, M. |. Road

Sihora — 369705
Faria Pereira
Mogra Panda
Raurkela - 27
Ketki Roshi

H.No. 133, IV Lane

Rajkot — 36531
R. K. Kukreja
Jr. Stores Offi
Chamba-26
Kotian R. H.
498/116 lind
Chikmaglur

Dr. Gandhi N. V.
Pavagarh — (N)
Pin — 321963
T. Bhavsar

R. No. 1741 ‘'C’
Hassan-44
593044

Sohail Hassan
Firdosi Baug
Fathepur — 588
Linette Montiero
D’'mello Road
Goa - 11
Kamal Shirali

Venkatesh Chowk

Nampalli — 74
N. M. Panda
Belgaum (S)
Pin—569008
Hussain Ekbaan
Jamo Sweets
Tel-3578626

(D)
Limaye & Sons
Shop No. 63
Tel-3511310
Naresh Jain
Phool Galli, 72
Ujjain 489650
D. S. Patra

26/309, M. |. Road

Sihora — 369705
Maria Pereira
Mogra Pada
Raurkela — 27
Ketki Doshi

Q.No. 133, IV Lane

Rajkot — 36531
R. K. Kukreja
Sr. Stores Offi
Chamba—-26
Kotian P. H.
496/116 lind
Chikmaglur

Dr. Gandhi H. V.
Pevagarh ~ (N)
Pin — 321963
T. Bhavsar

R. No. 7141 ‘'C’
Hassan—44
593044

Sohail Hassan
Firdoshi Baug
Fatehpur — 588

Lynette Montiero

D’mello Road
Goa - 11
Komal Shirali

Venkatesh Chowk

Nampalli - 47
N. M. Panda
Belgaum (N)
Pin—569008
Hussain Ekbaan
Jama Sweets
Fax—3578626

me and Address is given in the first column at
A), (B), (C) and (D). You have to find out the
ion in the first column. The letter of that column which contains

(E)

None

None

None

None

None

None

None

None

None

None

None

None

None

None
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15.

16.

17.

18.

19,

20.

21.

22.

23.

24.

25,

Janaki Travels
Op Bekar Cinema
S V Rd, Dadar(W)
D. S. Rajappa
IV ‘C’ Wing
Bangalore—6

T. Thiagrajan

H. No. 3689
Maddur—16

Bob Backlund
(Dir} Pheonix Ltd.
Ph-8297548

C. Poojari

Dr. House ‘31’
Road No. 24
Hosur-36
Makamura Cakes
Hilton Street-02
Shimoga-31
Sonal Ganjawala
CB Constructions
Fax-2271349

S. Kannan

D-24, Ring Sq.
Mangalore

560089
S. Lalliha

695/263
Mysore-14
Kamatha J.
131/369, lil
Bijapur-26

D. Seshagiri
C/o. S. Menon
Tele. 753892

Directions—(Q. 26-30) In each 27.

Janki Travels

Op Bekar Cinema
S V Rd, Dadar(W)
B. S. Rajappa
1V ‘C' Wing
Bangalore—6

T. Thiagrajan

H. No. 6389
Maddur—16

Bob Backlund
(Dir) Phoenix Ltd.
Ph-8297548

C. Poojari

Dr. House ‘31’
Road No. 24
Hosur-63
Makamura Cakes
Hilton Street—02
Shimoga-31
Sonal Ganjawala
CP Constructions

Janaki Travels
Op Beker Cinema
S V Rd, Dadar(W)
D. S. Rajappa
IV ‘G” Wing
Bangalore—6

T. Thiagrajan

H. No. 3689
Madadur-26

Bob Backlund
(Dir) Pheonix Ltd.
Fax-8297548

C. Poojari

Dr. House ‘31’
Road No. 24
Hosur-36
Makamura Cakes
Milton Street-02
Shimoga—31
Sonal Ganjawala
CB Constructions

Fax-2271349 Tel-2271349
S. Kannan S. Kannan
D-24, Ring Sq. B-24, Ring Sq.
Mangalore Mangalore
560089 560089
S. Laitha S. Lalitha
695/623 695/266
Mysore~-14 Mysore—14
Kamatha J. Kamatha J.
132/369, Il 131/369, Il
Bijapur-26 Bijapur—-26
D. Seshagiri D. Shesagiri
Clo. S. Menon Clo. S. Menon
Tele. 753892 Tele. 753802
734025

of these questions agroup of numbers

are given which are to be coded as
per the scheme given below. You
have to find out which of the answers
(A), (B), (C) or (D) has the correct 28.
coded form of the given numbers and
indicate it on your answer sheet. If

none of the coded forms are correct
mark (F) ie. ‘None of theso’ ac the

answer.

Numbers: 6 8 3 4012579

Codes :SLVKMRYDB?Z

(Letters)
26. 824301

(A) YLKVMR (B) LVKYMR
(Cy LYKVMR (D) LYKVRM
(E) None of these

(A) VBKMYD (B) BVKMYD
(C) BVMKYD (D) BVKMDY
(E) None of these

Janaki Travels
Op Bekar Cinema
S V Rd, Dadar(E)
D. S. Rajappa
AV ‘C’ Wing
Bangalore-6

T. Thiagrajan

H. No. 3689
Maddur-16

Bob Backlund
(Dir) Pheonix Ltd.
Ph-8297548

C. Poojari

Dr. House ‘13’
Road No. 24
Hosur-36
Mokamura Cakes
Hilton Street-02
Shimoga-31
Sonal Ganjawala
CB Constructions
Fax—2271349

S. Kannan

D-14, Ring Sq.
Mangalore
560089

S. Lalitha
965/263
Mysore-14
Kamatha G.
131/369, IlI
Bijapur-26

D. Seshagiri

D/o. S. Menon
Tele. 753892

Janaki Travels
Op Bekar Cinema
S D Rd, Dadar(w)
D. S. Rajappa
IV ‘C’ Wing
Bangalore—16

T. Thiagrajan

H. No. 3589
Maddur-16

Bob Backlond
(Dir) Pheonix Ltd.
Ph-8297548

C. Poojari

Dr. House ‘31’
Road No. 14
Hosur-36
Makamrua Cakes
Hilton Street—02
Shimoga-31
Sonal Ganjiwala
CB Constructions
Fax—2271349

S. Kannan

D-24, Ring Sq.
Mangalore

580089
S. Lalitha

695/263
Mysore—24
Kamatha J.
131/369, il
Bijapur-26

D. Seshagiri
Clo. S. Menon
Tcle. 758392

None

None

None

None

None

None

None

None

None

None

None

Directions—(Q. 31-35) In each

arranged alphabetically ?

432908 31. (A)
(A) KVYZML (B) KYVZML ©)
(C) VKYZML (D) KVYZLM (E)
(E) None of these R2 (A)
29. 578914 (©)
(A) DBLZRK (B) BDLZRK (E)

(E) None of these
30. 215963

(E) None of these

(C) DBLRZK (D) DBLZKR 33. (A)

©)
(E)

(A) YRDSZV (B) RYDZSV 34 (A)
(C) YRDZVS (D) YRDZSV (C)

(E)

question five words are given. Which
of them will come at the third place if

Jovial (B) Journey
Jumble (D) Juggle
Judicial

Maguse (B) Magnoto
Magnolia (D) Magnum
Magpnify

Concoct  (B) Concourse
Concierge (D) Condense
Concise

Thistle  (B) Thorough
Thirsty (D) Thole
Thorium
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35. (A) Resemble (B) Rescind

item

(C) Reside
(E} Reserve
Directions—{Q. 3640} The news

(D) Residue

in each question below Is to be

classified into one of the following five
areas—

(A) Sports

(B) Heaith

{C) Environment

(D) Economics

(E) Entertainment

The letter of the area (A) or (B)

or (C) or (D} or (E), as the case may
be is your answer,

36.

Famous actress offered a three
film deal by a leading production
house.

(A) Sports

(B} Health

(C) Environment

Answers: Clerical Aptitude

1.(C)
2(0)
3(B)
4 (E)
5(B)
6 (D)
7(A)
8 (E)
9(C)

10 (B)
11 (D)
12 (A)
13 (C)
14 (B)
15 (B)
16 (E)
17 (C)
18 (C)

19 (B

)

20 (A)
21 (C)
22 (A)
23 (E)
24 (D)
25 (A)
26 (C)
27 (B)
28 (A)
29 (A)
30 (D)
31 (B)
32 (C)
33 (A)
34 (D)
35 (E)
36 (E)
37 (B)
38 (B)
39 (C)
40 (D)

37.

39.

(D) Economics
{E) Entertainment
Scientists
Alzheimer genes.
(A} Sports

(B) Health

(C} Environment
(D) Economics
(E} Entertainment

. 1500 students were vaccinated

against Hepatitis B last week.
(A) Sports

(B) Health

(C} Environment

(D) Economics

(E) Entertainment

Only 1164 tigers left in India.
(A) Sporis

(B) Health

(C) Environment

discover 4 new 40,

(D) Economics

(E} Entertainment

Majority Asian stocks hit a 3 year
high this week.

{A) Sports

(B) Healih

{C) Environment

(D) Economics

(E) Entertainment
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1. Information on a computer is

stored as what ?
(A) Analog data
(B) Digital data
(C) Modem data
(D) Watts data
(E) None of these

. C, BASIC, COBOL and Java are
examples of ......... languages.
(A) low-leve!

(B) computer

(C) system programming

(D) high-level

(E) None of these

. Most Web sites have a main
page, the ......... , which acts as
a doorway to the rest of the Web
site pages.

(A) search engine

(B) home page

(C) browser

(D) URL

(E) None of these

. An email account includes a
storage area, often called a(n)—
(A) attachment (B) hyperlink
(C) mailbox (D) IP address
(E) None of these

Allahabad Bank Clerk Exam Computer Knowledge 2011

. The ......... is the box that houses

the most important parts of a
computer system.

(A) software

(B) hardware

(C) input device

(D) system unit

(E) None of these

. What type of computer could be

found in a digital watch ?
(A) Mainframe computer
(B) Supercomputer

(C) Embedded computer
(D) Notebook computer
(E) None of these

_ What is a modem connected to ?

(A) Processor
(B) Mother board
(C) Printer

(D) Phone line
(E) None of these

. A(n) is a collection of

information that determines which
files you can access and which
seftings you use.

(A) network

(B) user account

(C) operating system

(D) file system

(E) None of these

9. The space in your computer that

10.

1.

12.

loads andworks with data—

(A) cache memory

B) CPU

C) megabyte

D) RAM memory

E) ROM memory

......... hard drives are perma-
nently located inside the system
unit and are not designed to be
removed, unless they need to be
repaired or replaced.

(A) Static (B) Internal

(C) External (D) Remove

(E) None of these

A computer ......... consists of
two or more computers and other
devices that are connected for
the purpose of sharing data and
programs.

(A) network  (B) system

(C) workstation (D) device

(E) None of these

The taskbar is located—

(A) onthe Start menu

(B) at the bottom of the screen
(C) on the Quick Launch toolbar
(D) at the top of the screen

(E) None of these

{
(
(
(
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13. Once information is input into a  20. What part of the computer pro-

14.

15.

16.

17.

18.

19.

computer, it becomes—

(A) objects (B) data

(C) ideas (D) facts

(E) None of these

Generally, you access the

Recycle Bin through an icon
located—

(A) on the desktop

{B) on the hard drive

(C) on the shortcut menu

(D) in the Properties dialog box
(E) None of these

Computer programs are written in
a high-level programming lan-
guage; however, the human-

readahle version of a program is
called—

(A) cache

(B) instruction set

(C) source code

(D) word size

(E) None of these

The Recycle Bin stores discarded
items until—

(A) another user logs on

(B) the computer is shut down
(C) the end of the day

(D) you empty it

(E) None of these

A ... is a collection of infor-
mation saved as a unit.

(A) folder (B) file

(C) path (D) file extension
(E) None of these

Input,
devices grouped together repre-
sent a(n)—

(A) mobile device

(B) information processing cycie
(C) circuit board

(D) computer system

(E) None of these

One thousand bytes is a—
(A) kilobyte

(B) megabyte

(C) gigabyte

(D) terabyte

(E) None of these

output, and processing

21

[
N

23.

24,

25,

vides only temporary storage of
files ?

(A) ROM memory

(8) RAM memory

(C) Hard drive

(D) Mother board

(E) Processor

A(n) ......... backup contains a
copy of every program, data, and
system file on a computer.

(A} restoration
(B) bootstrap
(C) differential
(D) full

(E) None of these

. Every component of your vunr-

puter is either—
(A) application
system software
(B) software or CPU/RAM
(C) hardware or software

(D) input devices or output
devices

(E) None of these

software or

A blinking symbol on the screen
that shows where the next
character will appear—

(A) delete key

(B) arrow key

(C) cursor

(D) return key

(E) Esc key

Being ......... means being fami-
liar enough with computers that

you understand their capabilities
and limitations.

(A) computer literate

(B) computer competent

(C) computer savvy

(D) technology literate

(E) None of these

Which of the following could you

do to remove a paragraph from a
report you had written ?

(A) Delete and edit

(B) Copy and paste

(C) Cut and paste

(D) Undo typing

(E) Highlight and delete

26.

27.

28.

29.

30.

31.

32.

The computer monitor is which
type of device ?

(A) Scanning

(B) Input

(C) Processor

(D) Software

(E) Output

The arrow keys can be used to—
(A) delete text

(B) move the cursor in the text
that has already been entered

(C) save the document

(D) move the cursor while delet-
ing text

(E) None of these

Numbers in table columns are
usually—

(A) right-aligned

(B) left-aligned

(C) justified

(D) centered

(E) None of these

To indent the first paragraph of
your report, you should use this
key-

(A) esc (B) space bar
(C) return key (D) shift key

(E) tabkey

Each box in a spreadsheet is
called a—

(A) cell (B) empty space
(C) record (D) field
(E) table

A small picture that represents
something on your screen...such
as a(n)—

(A) table (B) application
(C) photo (DY modem
(E) icon

When a file is saved for the first
time—
(A) a copy is automatically
printed

(B) file name and folder name
must be the same

(C) it does not need a name

(D) it only needs a name if it is
not going to be printed

(E) it must be given a name to
identify it
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33.

Example of non-numeric data is—
(A) Employee Name

(B) Testscore

(C) Bank Account No.

(D) All of these

(E) None of these

. Which type of file is created by

word processing programs ?
(A) Database file

(B} Storage file 38.

_ (C} Worksheet file

35.

37.

(D) Document file

(E) Graphical file

The information you put into the
computer is called—

(A) directory (B) facts

(C) data (D) files

(E) output

This can be another word for 39.

program—

(A) peripheral (B) disk

(C) floppy (D) hardware
(E) software

it a previously saved file is
edited—

(A) it cannot be saved again

(B) the changes will automati-
cally be saved in the file

(C) the file will only have to be
saved again if it is more than one
page in langth

(D) its name must be changed
(E) the file must be saved again
to store the changes

Mr. XYZ wants to send an elec-
tronic message to a friend. He
should use this type of applica-
tion—

(A) word processing

() email

(C) spreadsheet

(D) paper and penci

(E) None of these

To print a document—

(A) select the Print command
and then select OK

(B) select the Ready Printer
command then select OK

(C) type PRINT and then press
Enter

(D) close the document, select
the Print command, then select
OK

(E) None of these

. Each ......... on amenu performs

a specific action.
(A) client

(B) server

{C} node

(D) command
(E) folder
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Answers: Computer Knowledge

1 (B)
2 (D)

3 (B)

4 (C)

5 (D)

6 (C)

7 (D)

8 (B)

9 (D)

10 (B)
11 (A)
12 (B)
13 (B)
14 (A)
15 (C)
16 (D)
17 (B)
18 (D)
19 (B)
20 (B)
21 (D)
22 (C)
23 (C)
24 (A)
25 (E)
26 (E)
27 (B)
28 (A)
29 (E)
30 (A)
31 (E)
32 (E)
33 (A)
34 (D)
35 (C)
36 (E)
37 (E)
38 (B)
39 (A)
40 (D)
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Directions—(Q. 1-12) Read the
following passage carefully and ans-
wer the questions given below it. Cer-
tain words are printed in bold to help
you to locate them while answering
some of the questions.

Long ago, the country of Gand-
hara was ruled by a just and good
king Vidyadhara. His subjects were
very happy, but as the king grew
older, everyone grew more and more
worried because the king did not have
any children who could take over the
kingdom after him. The king was an
avid gardener. He spent a lot of time
tending to his garden, planting the
finest flowers, fruit trees and vegeta-
bles. One day, after he finished work-
ing in his garden, he proclaimed, ‘I will
distribute some seeds to all the
children in the kingdom. The one who
grows the biggest, healthiest plant
within three months will become the
prince or the princess.’

The next day there was a long
queue of anxious parents and chiid-
ren outside the palace. Everyone was
eager to get a seed and grow the
best plant. Pingala, a poor farmer’s
son, was among the children. Like the
king, he too was fond of gardening
and grew beautiful plants in his back-
yard. He took the seed from the king
and planted it in a pot with great care.
Some weeks passed and he plied it
with water and manure, but the plant
did not appear. Pingala tried changing
the soil and transferred the seed to
another pot, but even by the end of
three months, nothing appeared.

At last the day came when all the
children had to go to the king to show
the plant they had grown. They went
walking to the palace dressed in their
best, holding beautiful plants in their
hands. Only Pingala stood sadly,
watching them go by. Pingala’s father
had watched his son working hard
with the seed and felt sorry for him.
‘Why don’t you go to the king with
your empty pot 7’ he suggested. ‘At
least he will know you tried your best.’

So Pingala too wore his best suit
and joined the others outside the
palace, holding his empty pot in his
hand and ignoring the laughter around
him. Soon the king arrived and began

his inspection. The pots held flowers
of different shades, beautiful and
healthy, but the king did not look
happy. At the end of the queue stood
Pingala, and when the king reached
him, he stopped in surprise.

‘My son, why have you come
with an empty pot ? Could you not
grow anvthing ?' Pingala looked down
and said, ‘Forgive me, your highness.
| tried my best, | gave it the best soil
and manure | had, but the plant would
not grow.’

Now the king's face broke into a
smile. He enveloped Pingala in his
arms and announced, ‘This boy truly
deserves to be crowned the prince ! |
had given everyone roasted seeds,
which would never grow. | wanted to
see which child was the most honest
one, and would admit he or she
would not be able to grow anything.
Only this young boy told the truth. |
am sure he will rule this kingdom one
day with truth and honesty.’

And indeed that was what
happened. When the king grew old

and died, Pingala, who had learnt
everytnlng from him, came 10 the

throne and ruléd Gandhara justly for
many years.
1. Why did the king distribute seeds

to all children in his kingdom ?
(A) it was part of one of the
rituals of the kingdom
(B) He wanted to see who could
grow the tallest plant
(C) He finished all his work in
the garden and had extra seeds
left
(D) He wanted to inculcate the
hobby of gardening among the
children of his kingodm
(E) None of these

2. Why was Pingala holding an

empty pot in his hands ?

(1) He could not grow the seed
the king gave him.

(2) His plant did not survive
after the second month.

(3) He wanted to be different
from the other children.

(A) Only (1)

(B) Only (2)

(C) Only (3)

4,
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(D) Only (1) and (2)
(E) Only (1) and (3)

Why did Pingala’s father encour-
age him to go to the king with an
empty pot ?

(1) He wanted the king to know
that his son tried his best to
grow the plant.

{2) He wanted his son to be
noticed by the king.

{(3) He wanted the king to rea-
lise that he had cheated his

son.

A) Only (1)

) Only (2)

) Only (3)

) Only (1) and (2)

) None of these

LICICICES

Which of the following word is
most opposite to the word Admit

printed in bold in the above
story ?

(A) Reject  (B) Deny

(C) Dismiss (D) Disclose

(E) Confess

Which of the following sentence/s

is true of Pingala’s father 7

(1) He was a farmer by profes-
sion.

(2) He was very encouraging
towards his son.

3) He was a poor man.
) Only (1)
) Only (2) and (3)

) Only (2)
D) Only (3)
(E) All(1),(2) and (3)
The king crowned Pingala heir to
the kingdom because —
(A) he enjoyed gardening
(B) he was taken aback by
his plant
(C) he was the only child to have
admitted the truth
(D) he had the most beautiful
and healthy plant
(E) he was in awe of his up-
bringing
What kind of seeds did the king
give to the children ?
(1) The finest seeds he had.

(2) Roasted seeds that would
never sprout.
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(3) Vegetable and fruit seeds.
(A) Only (1)

(B) Only (2)

(C) Only (3)

(D) Only (1) and (3)

(E} None of these

8. Which of the following state-
ments is false according to the
passage ?

(A) Pingala was fond of garden-
ing just like the king

(B) The king did not have any
child who could take over the
kingdom

(C) Pingala took great care of
the seed the king gave him

(D) The seeds that the king
gave to the children grew into
beautiful and healthy plants

(E) The children were given
three months to complete their
assignment

9. Why did the king call for an
inspection of the plants after
three months ?

(A} He wanted to see which

plant had the most beautiful
flower

(B) He wanted to witness the joy
on the children’s faces

(C) He wanted to see which
plant would be the most useful to
him

(D) He wanted to check the
children’s gardening skills

(E) He wantedto see which child
was honest and would admit the
truth

Directions—(Q. 10-12) Choose
the word which is most nearly the
SAME in meaning as the word prin-
ted in bold as used in the passage.

10. Avid
(A) Bright (B) Intelligent
(C) Enthusiastic (D) Lazy
(E) Amateur
11. Anxious
(A) Depressed (B) Hopeless

(C) Carefree (D) Doubtful
(E) Nervous

12. Finest
(A) Best (B) Thinnest

(C) Ordinary (D) Common
(E) Cheapest

Directions—(Q. 13-17) Which
of the phrases (A), (B), (C) and (D)
given below each sentence should
replace the phrase printed in bold in
the sentence to make it grammatically
correct ? If the sentence is correct as
it is given and ‘no correction is requi-
red’, mark (E) as the answer. .

13. | am very keen to to learned
about the town’s history.
(A) tolearns
(B) tolearn
(C) atlearning
(D) to have iearn
(E) No correction required

14, For the last three weeks the shop
have been closed.
(A) is being closed
(B) has been closed
(C) are closed
(D) to have closed
(E) No correction required
15. If you had spoken tg the recep-
tionist, she would tell you where
| was—
(A) would told you
(B) will tell you
(C) would have told you
(D) would be telling you
(E) No correction required

16. Many forests are facing the
danger to be destroyed.
(A) of being
(B) to have been
(C) tobeing
(D) having being
(E) No correction required

17. The Science teacher seem to
think that all the students in her
class were lazy.

(A) to seem to think

(B) seem to be thinking
(C) seem to have thought
(D) seemed to think

(E) No correction required

Directions—(Q. 18-22) Read
each sentence to find out whether
there is any grammatical error in it.
The error, if any, will be in one part of
the sentence. The letter of that part is
the answer. If there is ‘'no error’, the
answer is (E) i.e. ‘No Error’. (Ignore
the errors of punctuation, if any).

18. We had to / hurry to the airport /
(A) (B)
as the flight departures / from
(C)
Mumbai at 6 : 30 pm.  No Error
(D) (E)
19. If you had / watered the plant
(A) (B)
regularly, / it would not/have
(€)
died. No Error
(D) (E)
20. | wonder if/ my colleague would/
(A (B)
like it to goto/ the conference
(C) (D)
No Error
(E)
21. We should focus /our attention
(A) (B)
at / the roads where accidents /
(©)
have already occurred. No Error
(D) (E)
22. My friends are / not aliowed 10 /

A (B)

with me.

go out without / their parents’
) (D)
consenting. No Error

(E)

Directions—(Q. 23-27) In each
question below, four words printed in
bold are given. These are lettered
(A), (B), (C) and (D). One of these
words printed in bold may either be
wrongly spelt or inappropriate in
the context of the sentence. Find out
the word that is inappropriate or
wrongly spelt, if any. The letter of that
word is your answer. If all the words
printed in bold are correctly spelt and
appropriate in the context of the
sentence then mark (E) ie., ‘Al
Correct’ as your answer.

23. The tape recordings contained

(A) (B)
prove of his involvement in the
©) (D)
crime. All Correct

(E)
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24, Despite ail the research, there is

(A) (e
still no cure for the desease.
(C) D)
All Correct
(E)
25. Just because somathing is
(A)
expansive, it is not necessarily
(B) (C)
superior. All Correct
(v {E)
26. Although Goa is a small State,
(A) (B)
itis very popular with tourists.
(C) (D)
All Comect

(E)
27. One does not appreciate the
(A)
importance of good health
(B) (C)
until one is ill. All Correct
(D) (E)

Directions—(Q. 28-32) Rear-
range the following five sentences/
group of sentences (1), (2}, (3], (4}
and (5) In the proper sequence to form
a meaningful paragraph; then answer
the questions given below them.

{1} “My horns are my weapons,” said
the deer. “I'm sharpening them.”

{2) Frightened by the deer's shar-
pened horns, he turned to the fox
instead and shot him dead.

(3) The fox wondered why the deer
was wasting time sharpening his
weapons when there was no
danger in sight,

(4) A wild deer was rubbing his horns
against a tree. A fox passing by
asked him what he was doing.

{5) Just then a hunter appeared at
the scene.

28. Which of the following should be
the FIRST sentence after the

rearrangement 7
(A} 5 (B) 4
(C) 3 (D) 2

(E) 1
28. Which of the following should be

the FOURTH sentence after the
rearrangement 7

(A) & B) 4
C) 3 D) 2
(E 1

30. Which of the following should be
the FIFTH sentence after the

rearrangement ?
(A) 5 (B) 4
(C) 3 (D) 2
(E} 1
31. Which of the following should be
the SECOND sentence after the
rearrangement 7
(A) 1 (B} 2
(C) 3 (D) 4
(E) 5

32, Which of the following should be
the THIRD sentence after the

rearrangement 7

(A) 1 (B) 2
(C) 3 (D) 4
(E) S

Directions—(Q. 33—40) In the
following passage, there are blanks,
each of which has been numbered.
These numbers are printed below the
passage and against each, five words
are suggested, one of which fits the
blank appropriately. Find out the
appropriate word in each case.

One day, it so happened that
Emperor Akbar ...(33)... on a rock in
his garden. He was in a foul mood
that day and the accident made him
50 ...(34)... that he ordered the gar-
dener's arrest and execution. The
next day when the gardener was
««.{35)... what his last wish would be
before he was hanged, he ...(36)...
an audience with the emperor, His
wish was ...{(37)..., but whan the man
nearad the throne he loudly cleared
his throat and spat at the emperor's
feet. The emperor was taken aback
and ...(38)... to know why he had
done such a thing. The gardener had
acted on Birbal's advice and now
Birbal stepped forward in the man's
defence. “Your Majesty," he said,
“there could be no person more loyal
to you than this unfortunate man.
Fearing that people would say you
hanged him for a trifle, he has gone
out of his way to give you & ...(39)...
reason for hanging him." The em-
perer, ...(40)... that he was about to
do great injustice to an innocent man,
set the man free.

33. (A) fall (B) faltered
(C) bruised (D) trip
(E) stumbled

36,

a7.

38.

(A)
(C)
(E)

- (A)

(B)
(C)
(D)
(E)
(A)
(C)
(E)
(A)
(C}
(E)
(A)
()
(E)

. (A)

(C)
(E}
(A)
(C)
(E)

imaginative (B} troutled
disturb (D) angry
unforiunate

understanding

question

told

requested

asked

willing (B} requested
said (D) demand
propose

granted (B) presented
privileged (D) judged
weighed

claimed (B) asked
demanded (D) wanting
geamed

genuing (B} some
prized (D) justly
more

understands (B) realising
foresee {0} announced
thinks
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